This Question Paper consists of 14 questions and 8 printed pages.

fer yps-u37 1S9 14 yas 3 8 Hefds U 75 |

Roll No. Code No. 54/S/A/P
35 &: niat fem as 3. Set - A
PUNJABI
CEk:i)

(210)

Day and Date of Examination
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fadtuat @ eAds 1.

2.

nH fsaem -

1 fefenradt § yps ¥37 2 ufed 1% 3 »rue a0 w3 98 duv fguer agdt T |

2 yEs U3T € A Ufent § duer w3 wier Agdt § w3 yps U39 S ypst € foresh
€37 yA3a & GuT ufom & 3 &1 du7t 3 fumal 9t It 95 | feg & 2for
e fa yas U377 v yps 97 (Ales) nigAw 9= |

3 nERafez ofeu yrst faok fx (A), B), (C), (D) 75 fe¥ fex & § dae § »2
sta €37 & €39 yrsa ST fafmr 72

4 w9 yAs U3T frost few nradafes efeu yps &t 95 fea AW migAe 3t 398 78
faQ@fa dg »gar AWt ad1 f&sT A=ar |

5 JEt & faAs A I¥ duv €37 yAsw ® far & FAar 3 9t de e, 91 3
fefenradt & ydtfumr 3 wo9 a7 féar Ao |

6 €37 yrsa 3 yps yAsa T $ug S4/S/A/P-A w37 faa |
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PUNJABI
(dar=)
(210)
Time : 3 Hours ] [Maximum Marks : 100

AHT ¢ 3 uid ] [d5 nig : 100

&2 - (1) A9 yrs' € €37 Agdt I3 |
) A3 yrst § fors 3 ug 3 Gust @ €397 fod |

1 33 g I8 § ug 3 S Addt f&3 ypst @ €37 - 2x4=8

“gler St wite A 3 ufost @87 wd #wer § "wEr § w3 feg Aew §

w8 wEt Ffeféar gy a9 e ¢ 1| wA 9 F&dirt, niest ff 3fefdar ags

T 3375 95 fvrer 9t <u foor 9 | feo 9is #d S d3 8t vdtEt 9 fa Rewr

fros Bt sars 20 § w3 €r 3g° Ffefdar aver, =93 due o5 mdle &

<feer < € aE, saAs 9t Je' 9, fa8fa naAs »iAt Aot 39t s Ffefdar

41 g9 | nrH 393 =3 fev foa fes =93 due 7 I gfoe v fo=m @ |

g2 fAoz W AWS o2 A oafHa nrAe W U9 A fonrs &% 2o 72 3t

€r fes wAt a9 &t T, niew ALt 3 v, At I < wEE wrm < &t

=JioT yu fwg o9 3z uie oF 7 feg féa dor &t 3 =df w2, uv gufos

¢ ufomt a8 <t <u w 82 v, feg 3@ fed fad =93 o & zrfefdar = &t

gfeer 7

yrs

(i) Bux v fem o 3 ot 3= ¢ fa He & ntg & T ?

(i) Hewr fAgs =l gatawa faf I ?

(i) =93 due u m3 fa@ aat de ?

(iv) 3fefdar =t T ?
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2 I3 fod ymst @ At feamu ve ¢ 1x15=15
() dEHdt fait @ €9 € faod »ius 95, fAold fast wg 3 a3

fod A7 Ao ?
(A) HT (B) T
©) €= (D) 3§

(i) IOt fid fdd somue 75 :

(A) 99 (B) um
©) f35 D) @
(i) IOt it fev fd3 (v féw ug e =8®) nhww o5 ?
(A) ®© (B) ¥9
(C) dm (D) 35
(iv) dret feév &7, fAo<t w3 fao<t W= faud AT niug o8
ZET JAEMT TS
(A) B) =
c € (D) J=t aat
(v) ferme mue fom a® e 9 :
(A) Fdud 3% (B) WA IH
(C) 3= 3% D) far =8 dt

(viy €A33 ¥ feddl muE T :

(A) femw (B) wEe
(C) féfenr (D) 3IFS
(vii) 95 fofimit f&F faog womue =9t T
(A) mu= (B) THI
(C) faet (D) fai
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(vii)) »er39 far § affe g5 ? At fesmy gea fod -
(A) frold maet 2 fevga9 mare 95 |
B) frod mae @ U2 =R I3 |
(C) fAo} mae = »idt A9 TS |

(D) frog maet & fomrasfsa gu =ese o5 |
(ix) ‘AT®’ T AHSTEd HEE &d1 T

(A) WHAS (B) muwmr

(C) wealt (D) Ry
(x) BU HEE & :

(A) He=ET (B) HaEd

(C) Hew (D) Hed

(xi) ‘HHY & =g=9s HHIn gee ¢ uv ds o mue’ f&F faow
‘o’ IH GgEEs SI1 HeE

(A) Tt (B) uer
() dt (D) uet

(xii) 95 fod waet f&u faox mue foemset fdar d
(A) I (B) wEF
(C) d3r (D) 3IB=T

(xiii) fers AT @, fev Ae I faodt faforr T :
(A) AIgHS fafont B) rwofea fafonr
(C) niggHa fafomr (D) o=t fafonr aat

xiv) vgsE fan § affe g5 mdt feamu g -
(A) # Aage @ At @ 3 <u nudt @ fume 3 me8 95 |
(B) # wage faR HEY & I TAE TS |
(C) # mue far Yt & 7 =Az & foedt €re w5 |
(D) fAgt maet & =93 3= € ¥ 3 I° |

(xv) Sdld Age T Adl feamu <
J@ 391 §IET Al & UIH € Thmr mEl F9mat féSt |

-

(A) nH &= (B) YA =
(C) TA3TVX 3= (D) S==9d &=
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3 93 fod wruet w3 woefonrt § yer A3 1X5=5

4 T fod g7 nged AgeE’ 3 wWe-ue nfAd @ =9 g€ fa fda 3 2
TU g AYAS T A€ :

IS, IH |

5 J3 fadt =93 & femaw i3 zar€ - 3

ggfHa U4 nEereTEl 95 % YIS € AW A9 HIY € AYHMS
g8 feam € =Ae gwdl =@ 3 Sfomr dferr § fAg afoedt M3 st =
g9d i< | €8 &3 3 I3 HusH= € St g@-nigg I AT TS |

6 ﬁsfg&hﬁwﬁﬁ%ﬁﬁﬁ@%m%omwwwﬁuf@: 10
(i) umsat & I
(i) T ugtenT s |
(i) yeme &€ mHfmr |

(iv) &A™ A dde & |
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7 UAe WACT & fEa 3T o mue fgma @ 3ete @ fem sw w7
yArAT ¢ fa €7 3= @3¢ T IH uU3 EHaedt I8 g T |
- a
saafaai € Wa Aoz nifgest & wamst a9s 3t Steaft & 23t 3 =23
9 95 BEl @53t a7 3 A dwdt e I ww oA |

8 ‘fAHm gy AITEd wifs dow nifsHy | 5
Sfe fa nrefo nA a9 7fo fser faz |
5 fdd % mama &fH & mefo us |
fHe3 & sar e Ifomrent 33 v
99 a%x €= # fegt dardnt enrar Wit Fiws wet &t Aem 2@ 99 T ?
€37 100-125 maet fev fod |

fie, #vs fAy €trrel,

A9 AUE IE IE

TAsSa9, fag3t fagre

AEt 3¢ €3 3 we

Je A€ uwa €@ =t

WEfHg A=< TIH EHS

A9-HY T ‘fesAeAss’ I

& TSleH Tga Qudas Uarshet fed fam yge @ uwfHa HIs vder @ |
€37 100-125 maet few fou |

9 m: A fAw dv & sodt wher f&v, medwt ufowt & waam 3 5
T95 I AHSEMT IdT 2T SS9 T g, wiAt fa@ €33 100-125
mae fev fod |
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10 ‘feaieit adivs’ &< far fEa wa-uAe u3T & u39-GA<t 100-125 Ager 5
fés a3 |

11 H: g3 fiw 3 waegmer ot »2 dame e dige faor mier § | ferm &t urdt S
et €37 100-125 maet fev f&d |

12 35 fou ypst @ €39 foa == fev fod | 99 f&a Aot €39 o fda 1x12=12

x T :
() g 33a 22 # nigAw WS gt 3 Jomret T fodw
fam f&@ § ?

(i) ‘FAH” Ffezr f&T o=t 2@ o1 dee € wede AW ot F9er T 7

(iii) T’ #we 3 fe=3d s« € Ady f&w ot Myt T ?

(iv) w3 d9 & Fot w uzg g fdd A o At 7€ €0 Fadt mEd
fégt 37 wrfenr At ?

(v) @€t TE @w, fea-ga 3 ofdt A< 8 ®Et @ b TS,
&t 3At fer 9w &% Afows ¢ °?

(vi) fsuseies migt v faud a3 i Afuges &t =93 it aiet T ?

(vi) fitug 3ar fAw wzre uefua dies & afo fad gy d<t 9 °?

(vii) A: 393 fAw uget fév fad faor At 2

(ix) firtus 3ar fAw nigAa fAy gront & fam 337 2 dies €3 Ag fear ?

(x) WIH B Y3t H: gedts fAw = & st A ?

(xi) ufsr férlaes Aes @8 € Tde &a fa@ n»r@e I ?

(xii) HeT TIGAY T HIAT o IW3 AW &Ier At ?
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13 J3 fou ymst @ €37 30-40 mue' fev fod 6x2=12
(i) Y: Hos AW wsare’ 3 €= gme wrel gt 3 faod-fagd Ae=wt
g8 AT" Use ¥9e § °

(i) fAsgHT FTmt nis fe9 Tuv
at 849 Harer § ?

((OI:

farn o8 3@ fder § 3 €35F 3

(i) 7: AAs fAw SO ‘ARt & sma & foam =@ § U féer 9,
yg Qv ot afead 8 3 wgt aw féer T ?

(iv) rest &g dfuB@es &f mofes = &t otz 7w 9 °?

(v) 1928 €t: f&9 Aehvs afwmas & ®d9 UAae & AH, €8 Sn = fedu
95 <fonr fed Az 3 ufodt asw fev a9 €3 89 A5 °?

(vi) 99 3o 22 #l € we 99 »mudt 3T et Iedt mEt &t

g5 At ?

14 T3 fou yps' @ €37 Souar 50 muet feu fey 2x3=6
() fsvr mdfe fs=€e =8 W3y =9 W Iox @ # & aIfdfe 5 ?

(i) dI3eecT A3 € faodl I® Aea Idcagat USt e »iyt HI-ZIAT
g gt ?

54/S/A/P—210-A |

=]

RN AGNIRRTAUNM 1 -0001



